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INSTRUCTIONS FOR CANDIDATES

1.

2.

Please do not open this Qﬁestion
Booklet until you are told to do so.

Candidate must fill up the necessary
information in ‘the space provided
on the OMR Answer Sheet before
commencement of the test.

. . For markmg the correct answer,

darken one circle by black or blue ball-
point pen only. Please do not mark on
more than one circle. Darkening on

- more than one circle against an answer

will be treated as wrong answer.

Do not detach any leaf from this
Question Booklet. After the examina-
tion, hand over separately the entire

Question Booklet and Answer Sheet to

. the Room Invigilator.

Each question carries 2 marks. There
is no negative markmg for any wrong
answer.

Possession and use of Calculator,
Mobile Phone and Pager is prohibited
-in the Examination Hall.

For any discrepancy in the translated

~ version of any question in Hindi, the

English version of the question will be
valid.

You. should: return the Question
Booklet to the Invigilator at the end
of the examination and should not
carry any paper with you outside the
Examination Hall.
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2.

Which one of the follow'ihg is the

carrect feature

,ﬁfmnomy"
(@) Small-scale productlon on'

land.  only for
consumption

famlly

(b) Production on fand for'
selling a part of the. producq

in the market

(¢) Production’ on land for
selling the products in the
‘market for profit-making
motive

(d) Production " on land for

- family. ' consumption . and

selling the surplus for profit o

A person pursuing poStgréduate T

studies in . a . medical - college
interacts not only with . the
teacher but with other students

nurses, medical technicians; etc. -

- How. could this be conceptualized
.tin terms-: .of the: functional

_analysis? |

1. Multiple réles

2 Role conﬂlct

3. Role-set
4, Status

Select the correct answer usmg'rr

the code given below :
Code : -

(@) 1 and 4
) 3 only'

(c 1and 3 -

(d} 2 only "

/22-B .
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~ 3. Which one of the following is not
~a feature of an urban

commumty?

(a) Incféasing
activities

commercial

\(b) Social control on kinship

basis

(c) Increasing division of labour

. (d) Increé.siﬁg sociéi‘ chp‘lA‘éxity‘.

. Consider the following : =
‘1. Peasant family £0rm as a

unit of consumptxon and
productmn

2. ngnc.ulture as the, main
‘source of 11ve11hood

3. Dommatlon of peasantry by
- outsiders

4. le,pec1ﬁc traditional culture
related to the way of life of
small communlues ‘

.Which of the above are the

characteristics _of Indian:

peasantry? .

(@) 1 and 2 only . -

(b} 2 and 4 only

(c) 1,3 and 4 only

(d) 1,2, 3 and 4
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5. The study of changes in the

material aspects and the non-
material aspects of culture has
been used for understandmg

1. the causes of change in
" society

2. the elements of culture

3. the d1screpanc1es between
the rates of change in
different sectors of social life

Select the correct answer using

the code given below :

Code :

(@) 1 and 3
(b) 2 and 3
(c) 1 o’nly
(d) 3 only

6. Who among the following

is/are considered as ‘Alliance’
theorist(s)? *

1. B. Malinowski

2. R Needham

3. A R Radchffe—Brown
4. C. Lévi-Strauss

Select the correct answer using
the code given below :

s

Code :

(a) 4 only
(b) 1 and 4
{c) 2 and 3
(d) 2 and 4

7. The concept of ‘Cultural Capital’

as developed by Pierre Bourdieu
helps to explain which one of the

“following phenomena?

(a) Reserved seats for DNT
(Denotified Tribes) in
colleges often remain
unfilled

(b) Recognition from UNESCO

- as a World Heritage Site
inére'aSes tourism at an
archaeological site

{c). Museums located in State

capitals are developed as

symbols of national identity

(d) Dharwar = region in

' Karnataka has produced an

extraordinarily large number

of Hindustani classical
musicians '

. In the holijstic‘"studykof cultures,
- which one of the following terms

refers to the approach of
adopting the viewpoint of those
who belong to that culture?

(a) Empathetic
(b) Emic

(c) Dynamic
(d) Etic

. The prohibition @ of Sagotra

marriages among Hindus is an

example of ‘

(a) taboo on *cross-cousin
marriage

(b) clan exogamy

(c) the rules of caste endogamy

(d) incest taboo
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‘Which one of the following is an
example of wealth promised to
the bride by the bridegroom?

(a) Mehr

(b) Stridhan
(c) Dowry
(d) Brideprice
Who

among  the following

- scholars has/have proposed the

idea of an ‘Indian Culture of
Kinship’ that integrates North
and South? S

‘1. ‘Thomas Trautmann

2. Irawati Karve
3. Louis Dumont
4. T.N. Madan

Select the correct answer using

the code given below :

Code :

@ ey

12.

- /22-B

(b) 1 and 3
(c) 2 and 3
(d) 2 and 4

The case of the Parsis who
migrated to Gujarat from Persia
and switched ‘to’ " Gujarati
language is an. example ‘of

(a) accommodation
(b) integration
(c) ‘syncretisin

(d) assimilation

13.

Who amotig the following social
thinkers ‘~has focused on
equilibrium rather than conflict
as the basis of soéiéty?

(@) C. Wright Mills

() R. Dahrendorf

" f¢) L. Coser

14,

15.

16.

l‘ (d) T. Parsons

Which one of the following is

~ opposite in‘meaning and spirit to

the * concept of cultural

relativism?

‘(a) Ethnocentrism

(b) Ethnomcthodology
(c) Ethnostatistics
(d) Ethnography

Which one of the folldwing is
maintained by class as well as
caste society by delicate,
carefully observed distinctions of
etiquette similar to notions of
purity-pollution between castes
in India? ,

(a) Relative deprivation

(b) Assimilation

(c) Social distance

(d) Social conflict

‘Grounded theory’ comes closest
to which one of the following
major classical perspectives in
sociology? ) ~
(a) Functionalist perspective

(b) Symbolic
perspective

interactionist

(c) Conflict perspective

(d) Evolutionist perspective
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17.

18.

19.

Which - one of the following
factors is least relevant as an

explanation for the declining sex -

ratio in India?

(@) Migration of males to urban
areas '

(b) Female foeticide

(c) Lower nutritionai status of
girl children

(d) High maternal mortality

Sanskritization as an explanation
for social - change in India
embodies a/an o

(a) cultural japproach
(b) structural afnproach‘ |
(c} ev61Uﬁonary approach

(d) interactionist approa;:h ,

‘Which v'dzine',of the fbilowing ‘was

‘the theme of discussion in
Amartya  Sen’s ' ‘Cooperative
Conflict’? ‘

(a) Understanding - between
trade union and employer in
an industrial conflict"

(b) Harmonious and acrimonious
aspects of family structure

~and roles B

(¢) Alliances between castes in
electoral politics

| (d)- Merit vs. Need : _fxrinciple as

/22-B

manifestéd\in institutions of
technical education

© 20.

21.

- 22,

23,

“Which one of the following terms -

has a meaning that is in contrast
to the other three terms, which
are related to each other?

(a) Ethnocentrism

~ (b) Social distance

(c) Culm}al relativism
(d) Xenophobia

Which one of the folib\xring pairs
is not correctly matched?

(@) Structure of : T. Parsons

social action v
: Malinowski

(b) Subconscious
structures of
‘the mind
(c) Structure AR
and function Radcliffe-
Brown

(d) Structuration : A. Giddens

Whose theory of social change
cannot be classified as a linear
theory of change? '

(a) A. Comte

(b) H. Spencer

(c) M. Weber

(d) K. Marx

Which one of the following
features is not common to the
ideas of post-industrialism and
post-Fordism?

(a) Technological advancement
(b) Advancement of knowledge

(c) Role of knowledge in the
organization of production

(d) Mass production
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24. Who

among the ' following

~ sociologists has given purity-
 pollution.the fundamental place

25.

26.

in his charactenzatmn of the
caste system? =

(a) L. Dumont

(b) G. S. Ghurye -
(¢ M. N. Srinivas
(d} A M Hocart

Which one of the- followmg best
reflects tribal society?

(a) Hierarchical socml relations
(b) . Kinship relatlons

(c) Commercial agnculture

(d) Scriptural religion

Which one of the following is not

typical of industrial society?
(a) Bonded labour '
(b). Wage labour

(c) Womens household labour

27,

industrial to

(d) Unorgamzed labour

A movement from an old to a new
social order, from the traditional
to. the modern, from pre-
to industrial, from
rural to the urban way of life,
from small—scale personal to
large-scale impersonal society,

 from simple society to’complex

/122-B

modern society; refers to various
sociological theories of

{a) social movement )
(b) social change

‘{c) social conflict

(d) social development

10

28. Consider . the = following
statements :
1. In all societies, arrange--

29,

ments exist for the social
recognition of who may

legitimately mate with
whom. -

2. In all soc1et1es, arrange-
ments exist for = giving

legitimacy to the children,
giving them social
recognition, an identity, a
“name, membership of a
socially recognized group.

3. In all societies, there exists
an ant1c1patofy promsxon for
the needs of the mother-
child wumty, -which is
generally regarded as the
basic' ‘tnit ‘of ‘the kinship
system

Which one of the followmg social

institutions is referred to in the
statements- given above?

(a) The family
(b) Kinship

(c) Marriage-
“(d) Household -

An actress/actor in order to

excel in her/his  occupational

role sacrifices her/his kinship
role. Which one of the following
is the correct term to explain
such behaviour?

(a) Role conflict

(b) Social distance”
(c) Deviant motivation
(d) Role conformity
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31.

. Advanced ' . technology is

the

central feature of an advanced

society, because technology

(a) makes all other societies

-appear primitive by contrast
(b) refers to little' division of
. labour between parts
gives people:greater indepen-
dence of their environment

does not respect race, class
or caste

Alters are differentiated in terms
of their degrees as well as types
of significance to ego, and that
the force of a sanction is

~ therefore a function of its source

in this ‘respect as well as in
others. Which one of the
following is the correct concept
to describe the above? '

{a) Closeness
(b} Social control

(c) Social distance ’. ,_

- 32.

/122-B

(d) Role-pattern

When a caste from ‘Sudra Varna
emulates ~ customs, . habits,
manners, dresses, foods, etc,,
along w1th various other cultural
elements of a h1gh caste of the
locality, the process can be
termed as

(@)
(b)
()
(d)

Brahmanization
Sanskritization
upward caste mobility

change in the structural
position of the caste .

12

33

34.

Who among the following is a
prominent. member of the social
structure of Little Tradition’ in
India? ‘ ‘

(a) Folk artists
(b) Teachers
(c) Elites

(d} Nobles

In which of the following, the
Jajmani system was operative in
India? ‘

1. Caste system A
2 Rehglous systerh.
3. Kinship system |
4. Political .sjstem\

Select the correct answer using

_the code given below :

Code ::

]

- {a) 1 and 2‘only‘

(b) 2 only
© 1,3 and 4

(d) 1, 2 and 3
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35. In some societies, ‘property is.
: _Vtransferred in the male line from

36.

37,

/122

" father to the youngest son.
Which one of the following would

best describe this rule?

(o) Patriarchy

(b) Ultimogeniture

(c) Primogeniture
(d) Patrilineal

Class differentiaﬁOn in advanced
industrial society is .based on

(a) economy | |
(b) race'and ethnicity
(c) power and authority *
(d) individual performance

Which of the fbllovﬁng is/are the

feature(s) of ‘socxal fact™?

1. Social: . fact. exercises
constraints on individual’s
behaviour.

2. Social fact is any behavmur

of an individual.

3. Social fact is regulated by
. individual’s behaviour.

Select the correct answer using

~ the code given ‘below

Code :

(@ 1,2 and 3
(b) 2 and 3 only
(¢) 1 and 2 only

(d) 1 only

14

=38.

" 39.

@

“40.

Nl

‘Which one among the following

does not form part of the general

_ theory of social action systems

as propounded by T ‘Parsons?

(a) Action is a process in the
actor-situation system
Physical objects are means
and conditions - of = ego’s
. -action
(c) Physical objects as empirical
entities interact with ego
(d) In action terms, the object
world is classﬂied as social,
.phys1ca1 and cultural

Soon after —independcnce, T a
controversy arose in India about
whether tribal communities
should be" ass1m11ated into the
mainstream or - kept separate
with their distinct identities
intact. The two major sociologists
involved in the controversy were

(a) A. Ayyappan and Verrier
Elwm :

(b)

Verner Elwm and G. S.
Ghurye : ‘

(c) N. K. _Bose and D. P.
Mukherjee

B. S. Guha and B. K: Ray
- Burman

Fa‘rﬁily' formed after ‘marriage is
called

(a) family of re-creation.

(b) monogamous family

(c) family of orientation

~. (d) family of procreation
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42.

430

(@

44.

122

©

(b)

(d)

Social relation in the society
develops when

(@)
(b)

institution exists -

social and political problem
. is complicated

there is mutual awareness

there is  consciousness
towards existence of other
individual

(d)

Who is the wnter of the book,
Society ?

(a) Karl Marx

(b) Auguste Comte
(c) Bottomore

(d) Maclver and Page

What is the meaning of achieved
status? .
To get the status by cultural
diffusion
To get the status by
development of personality
To geét the status by
- competitive ability
All of the above

(b)
(c)
(@)

Caste system was prime role.
Which of the followmg do you
accept?

(a) It gave the submissive role to
the Sudra '

Society was divided in role-
group o

(c) Role of each group Was
determined ‘
Role of an individual

depended on his ability

16

45.

46.
. statements

47.

Which among the following is
not an example of ascribed

‘status?.

(a) Beautiful woman
(b) 50 years old man
(c) Married woman
(d) None of the above

following
- social

~ the
regarding
structure is not true?

(@) Social structure is undivided
(b)
(c)

‘Which of

Social structure is abstract

Social structure is
comparatively a  stable
concept

Each determinant unit of the
social structure has spec1ﬁc
position

(d)

Consider the following statements
associated with norms and
values :

1. Norms are inforced by
positive-negative sanction

2. Norms are defined by
acceptable behaviour in

specific situation - ~
3. Norms are not formalized by
translating into laws

Wh1ch of the statements glven

above are correct?
{a) 1 and 3 only
(b) 2 and 3 only
(c) 1 and 2 only
(d 1, 2 and 3
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52.
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Marriage with mother’s brother’s

daughter is a form of which one
of the following?

(a) Restricted exchange

(b) Direct exchange
(c) Discontinued exchange
(d) Common exchange

What do we say about the
learned  behaviour of an
individual?

(a) Culture

(b) Civilization
(c) Instinct

(d) Personality

Group is a collection of such
individual which number is

(a)
(b)
(c) unlimited
(d)
Which characteristic of little
community has been indicated
by Redfield? = ‘

(a) Smallest

(b} Specific

one

limited ,»

Number is not needed

(c) Sqlf—dependency

(d) .All of the abpve

Role conflict arises o
(@) when one performs multiple
roles '

when one’s role is undefined

()
(c) when the role assigned does

- not agree with one’s status
(d) All of the above

18

53.

54.

55.

56.

57.

Which  term is . used to
understand the dominance of
man over woman in society?

(a) Patrilineal
(b) Patrilocal

(c) Patriarchy
(d) Patrimony

Which is' the characteristic of |
socialization?

(a) Process of learning

(b} Life-long process

(c) Related to time and space
(d) All of the above

Which of the following market is

popular in tribe community?

(a) Hutt-bazar

- (b) Local fair market

(c) Village and city market
(d) All of the above

Which, is not the basic element of
the State from the following?
(a) Population

(b) Definite area

(c) Government

(d) Religion

Which of the following is a State?
(@ YMCA' -

{b) Punjab

(c) India

(d) UNO
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(d) Iagch it
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59.

60.

Who is the writer of: the book, .

- Crime and Custom .in Savage

Society ? :
(a) Lobby

(b) Henryman

(c) Malinowski
(d) Maclver

Which among the folléwing,

countries - have . the dual

citizenship process?
(a) China
(b) France -

(c) Britain

(d) America

Which of the following Articles of
" the Indian Constitution is related .
‘with Jammu and Kashmir State

as a special subject?

(@) Article 370
" (b) Article 356

61.

(c) Article 368
(d) Article 342

Sumner’s model of society is
known as :

" (a) development. model

/22

(b) conflict model
(c) progressive model

(d} consensus model -

20

62.

63.

64.
~ groups is not proto-Australoid

65.

There are three "stages of
development of society, namely,
savagery,  barbarism and
civilization, according to

(a) Darwin

(b} Morgan

(c) Spencer

(d) Bachofen

The extended family is the
opposite of nuclear family. It
does not exist in

(@) USA
(b) India
(c) Japan
(d) China

Which one of the following tribal

(a). Santhals
(b) Mundas

V(c) Oraons

(d) Garos

A rural community without ‘arlly
village centre has been described
by Edwards as

(a) line village
(b) open-country community
(c) down-country

(d) closed community

“
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Which set of
exchanged under the Kula?

{a) Rice and fish
(b) Wheat and clothes .
(c) Salt and sheep

(d) Necklaces and armlets

Development of the ecdlogical

approach to urban analysis is

attributed to

(a) Frankfurt school
(b) Vienna school

(c) Chicago school
(d) Manchester school

The rural area surrounded by
a city is known as '

(a) sublirban~
(b) hinterland
(c) urban village
(d) slum

Low birthrate and pregnancy
wastage in the population are
primarily due to

(a) traditional praCtices .
(b) maternal malnutrition
(c) female illiteracy

(d) insufficient health care

Largest component of internal

migration in India is
(a) rural-urban migration
(b) urban-rural migration

' (¢) marriage migration

(d) rural-rural migration

‘goods are

22

71.

72.

73.

74.

According to  Malthus, in- the
control - of  overpopulation,
famines represent an example of

(a) preventive checks
(b) negative checks
(c) positive checks

(d) morbid checks

Which - one of the following

Articles of the Indian Constitution
talks about grant-in-aid for the
welfare of scheduled tribes?

(a) Article 275
(b) Article 334

(c) Article 224 (A)
(d) Article 164 (1)

Technostructure is the
characteristic of the

(a) hydraulic society

(b) post-industrial society

(c) military society
(d)  industrial society

In India, a special Ministry for
Women and Social Welfare was
formed at the Centre in the year

(a) 1983

(b) 1986
(c) 1976
(d) 1991
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77.
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(a)

land reforms programme was the

(a) West Bengal Land Reforms

Act, 1956

(b)

(c) Bihar ‘Land Reforms Act,
1950 o -

(d) Bombay Tenancy Act, 1939

The history of the women’s
movement is usually dated to

(a) the social reforms movement:

of the 19th century

(b) the = liberal  feminist
movements of the 20th
century

(c) the radical feniinistk move-
ments of the 21st century

the democratic
movements of the
~ colonial era

(d)

With which of the following

Zamindari Abolition Act, 1950

political -
post-

typologies is Herbert Spencer’s -

name associated?
Geméﬁxéchaff;—Gééellschaft
(b) Status—Contract |

(c) Military society—lndustﬁal
society ’ ‘
Mechanical society—Organic

society

(d)

24

78.

79.

80.

Which one of the following
constitutes a primary group?

(a) All inmates of a prison

‘ (b) Sugarcane plantation workers

(c) Play group

(d) Mother and her
children

three

Marriage by purchase is called
(a) Arsha niarriagé

(b) Asur marriage

(c) Rakshas marriage

(d) Paishach ‘fnarriage

Ritual kinship. refers to

(a) legally defined marriage

relationship

kins related to one arnother

through blood

(c) ‘ kinship on the basis of
functional social relationship

(b)

(d)

persons related to each other
through rituals

81. Which one of the following is a
- social relationship? '

(a)

Two armies facing each
other

Thirty candidates seated in
an examination hall

()

(c) People running for shelter 4
during'va‘ sudden downpour

Cinema viewers and actors
on the screen

(d)
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Who uses ‘dichotomization of
role and '  tridization of
relationship’ as bases for
formation of social structure?
(a) Lévi Strauss -

(b) M. Fortes

() S. F. Nadel

(d) Marion J. Levy

In view of Redfield and Singer the
process of primary urbanization

is  characterised by the

development of \a‘\/ an

(a) folk tradition

(b) elite tradition
(c) great tradition
(d) little tradition

The main provision of the 6th

Schedule of ‘the Constitution of

India deals with ‘

(a) reservation 1n the govt. jobs

(b) preservation of tribal lands

(c). autonomy in administration
in -the tribal . areas of
North-East India

(d) reservation in educational

~ institutions

Which one of the following

statements is correct in respect

of a society and a group?

{a) Society is better’ organised
than a group

(b) A group is better organised

than society

.{c) Both group and-society are

equally organised
(d) Both group and society are
' dlsorgamsed

26

“86.

87.

- (c) prevent

89,

90.

A group to which we compare

ourselves when wejudge our
own status is called

(a) kin group

(b) peer group

(c) secondary group

(d) reference group

Max Weber was born in the year
(@) 1804 |

(b) 1864

() 1807

(d) 1792

. Avoidance is practised . in the

society to

(a) show respect towards elders

(b) show e displeasure to the
rivals

_ sexual  contact
‘between certain - relatives

(d) raise the status of women

‘Which -one of the following can

be referred to as 1ndependently
defined role?

(a) Father
(b) Teacher .
(c) Painter,

(d) Ofﬁcer'

The death‘ef children below one
year of life is known as .

(a) child mortality

(b) intra-uterine meortality
(c} neonatal mortality

(d) infant mortality
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A society that expériences’ little
or no -change from one genera- '

tion to the next is referred to as
(a) closed society

(b} static society ,

{c) open society

(d) dead society.

Which of the following is not an
essential  feature . of a
community?

(a) Population

(b) Locality

(c) ‘We-feeling
(d) Smallness in size

Who . made the distinction

between prescribed role and role
‘behaviour? ’

(@) R. K. Merton

(b) T. M. Newcomb

(c) S. F. Nadel
(d) R. Linton

People of many generatxons and

relatives  living -together in a

family form a unit. Ogburn and
Nimkoff refer to it as a/an

(a) joint family ,
(b) extended famlly
(c) dynasty

- (d) large family

SRS

985,

/122

A system of exchange cc}ifnmoh to .

both the primitive. and modern
societies is the system of

(a) barter

() gifts

(c) credit.”

. (d) monetar}",..ﬂg.;,f .

96.

- India, “the number of females .

97.

98.

99.

Accordmg to the 2001 Census, in

per 1000 males is
(@) 927
(b) 972
(c) 933
(d) 950

A legitimate right to give certain

" orders or commands is called

(a) power

(b) authority
(c) ‘influence
(d) cohesion

The word ‘Sociology’ is derived
from the Latin word

(a) Societo
(b) Socio
(c) Societus
(d) Socius -

Which one of the followmg is not

" the 'charactenstm of tribe?

(a) Cpmmon ‘territory

(b) Common language

(c) Political orgamsatmn
d) Forms of land ownershlp

100. According to projections made in

a World Bank Report, India's
estimated populatlon by 2150
will ‘be over

(a) 1750 million
(b} 1756 million
(c) 1762 million
{d) 1767 million

b4

L




91

92.

93.

94.

95.

/22

A w A A e R

Ner-a1 qiEdy @ar ¥ erEr W
TR T T@a ¥, e R

(a) << GHS

(b) TR @t

(c) 3G T

(d) Ta =St

iy & & #¥7 fFh wgem &
e e T 27

(@) STEEH

(b) @Rl

(c) TH-HIGAT

(d) TG R |
fret e wfe T R SR

# yg fmn?

(a) 3o Fo HH
(b) Eo e HA
(c) THo Tho LA
(d) ¥Ro R

et o § A o de B

Y T 9 A T S S g
et T s @ we E

(a) FFH TRER

(b) T afEr

(c) aW

(d) =g1 9REAR

s ofk amgfres, 9w A
fafrm i = wonedt @

(@) wgffem

(b) IWW

(c) 3UR

(d) s

29

- 96.

| 97.

W@ § 2001 # WA ¥ TR
wfgemalt € wemn 2, yfd 1000 ToN

(@) 927
~(b) 972

c) 933
(d) 950

W FRW W ERT | W A

- iR T ¥

98.

(a) WRE

(c) IR

(d) wafe

‘Sociology Y& Pwfifaa e vt
ANt

(@) Societo

(b) Socio '/

~(¢) Societus

99.

(d) Socius | 4
frfiRes § ¥ 9 S it e

- R
(@) T 9N

100.
SER 2150 @& WRA R IFgAE

frea &% @ # o M wAw %

(@) 1750 fafemm
(b) 1756 T

"o 1762 fufemm

(d) 1767 fafemm

[P.T.O.




122

SPACE FOR ROUGH WORK

[P.T.O.

o

-




/22-B

SPACE FOR ROUGH WORK

* &k

31

yll—







